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(d) Explain the concept of disguised unemployment in
the context of Lewis model of economic growth

using unlimited supplies of laboure

S & FEHT YA & ITANT I §Y I fae
& e Aed & Ga A TTST SRIGHIA Sl AL &
RET e (7.5 x 2)

(3500)

" [This question paper contains 8 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 3658 E
Unique Paper Code ;12271602
Name of the Paper : Dévelopment Economics- 11
fema srfame - 11
Name of the Course . B.A. (Hons) Economics —
CBCS CORE
Semester : VI
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates
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of this question paper.
2. There are total 8 questions.
3. Answer any 5 questions

4. Marks of each question are written alongside the

question
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5. Answers may be ‘written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. Discuss the reasons that have kept the population
growth rate persistently high over the years in most

of the developing economies of the world. (15)
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Write short notes on any two of the following:

frafofaa % @ foeedl @t W wfera oot fafew

(a) The positive effects of population growth on

economic development.

e o W swEEn gfg & FhRohEn THE

(b) Explain the concept of existing and optimal natural

capital stock.
do@r 3R Teaw WEfoew doit wiE @t EuRen i
R

(¢c) What were the major changes that occurred as
the world trade regime made a transition from

GATT to WTO?

P.T.O.
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What are the major components that need to be
analysed to estimate the quality of environment? On
efficiency grounds, how does the use of economic
incentives compare with a command and control policy

to combat environmental problems? (8,7)
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The high trade theoriés assured us that free
international trade will equalise the factor payments;
however, the global trade regime failed to see that
happen. Do you agree that the theories broke down?

Explain your answer, (15)
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Explaining the Harris-Todaro model of rural-urban
migration, discuss how this model endogenously
delivers a prediction for the size of the urban informal

sector. (10,5)
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There are various factors that affect the structure of
land rental contracts in a rural economy. Of these,
discuss how the factors of incentives, risk and the
double incentive problem between the landlord and
the tenant, affect the choice of land rental contract.

(6,6,3)
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(a) Explain how the casual labour markets in rural
areas create nutritional externalities t}lat all the

stakeholders end up paying for. (8)
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(b) Explain why land inequalities tend to rise in poor
rural markets that are characterised by
collateralised informal debt contracts, where the
collateral is of value to both the lender and the

borrower. (7)
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(a) Explain, in detail, why interlinkage is an observed

mode of credit transactions in rural markets,

especially of the developing economies. (12)
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(b) Assuming 10% to be the prevailing formal rate of

interest, calculate the minimum rate of interest
that a lender of Rs. 1000 would demand in the
informal market, if there is a probability 1/2 that
the loan will be repaid with interest and probability
1/2 that the loan will not be repaid; and under the
latter condition of loan being defaulted upon, there
is a probability 1/2 of recovering assets worth Rs.

500 from the borrower. : (3)
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